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Time: 3 hrs. * 
*," * Max. Marks: 100

etl-. ' l*T"

Note: Answer any FIW full questions, cffieg ONE full question flpti each module.

a.

b.

c"

(06 Marks)

(06 Marks)

(08 Marks)

intersect each other
(06 Marks)

(06 Marks)
(08 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

i:::::

if"n - an cos ne.
)l uy' : 4(x * &)3'u

a.

b.

c.

a. Find the

b. ,Evalu ate

c. IfIJ :

Evaluate

Evalu ate

Prove that

*Module-3

-
changing the order of integration"

Maclaurin's series.
3.1 1y' - 3x - lLy + 20"

ZX, W: X + y + Z.

(06 Marks)
(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

Mo du Ie- *rn,,,'0""'''.-;i.

upto the termi,lx".

aU "tt:tl0t. eIJ
'i'* 

'::'::i +-

c.

1 af2



a. Evaluate

4. ,JUtVlt 
-f-:--v 

45Wu dF (uurvrar[s,dx sinx+xcosy+x *%# .r'ftd r;. q,r*",
b. Solve rSin0 - Cose$ = 1' ,f@W @ * (07 Marks)

de dw\"*{w

#dqke s' "d "{$W' pffi
a. Solve (4xy4LQffx)dx + x (x + 2y)dy% "

b. Find thqeiffional trajectories of the funily of parabolas y2 = 4ax.

OR

over the region bounded by theJJtdxdy

18MAT11

22XV 1 J 
-1
-1.a2 b2

(06 Marks)
b. Find by double integration the area enclosed by thffirfo fl= a (1 + Cos0) between 0 - 0

. and 0 : n. : $d (07 Marks)
rt"2 dA "t] _ 6 F+ 6,

c. Showthat [-+" t."/Stre dO=n. tu"-"." (07Marks)
J' Jsine t iry

Mod,u16,14ffi
ti:l::,ii:il:: 

ir,, . .iii'

lVlcfWill@4 .d"- ** *r#
dv vcosx+sinv+v ^ '%'Y

a. ' Solve *+# =U i.qr*n # (06Marks)

"" de ^ d%%# 
"*%

c. A series circuit with resista*i@, inductance L and 
"g$cffimotive 

force E is governed by the

differential equation ffitf = E, where I- anddft&constants and initially the current i is
fu*& " -6q&

zero. Find the cur#qrtffiny time t. d. (07 Marks)
ss

ar,,,:iii,,,,,. " a .i:ni.

c. Solve ,Ot2"''1,12py cotx - f , n' :::::,i,i,i:':.....1.....,,,,.

.,i*i,iri,,.**i:ii! i,i nili,-l'u:,, 
"T 

, ,..r1i.,,il....*",-"
-"""ir:r:::iiiiiiiii:, 
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, ::::.;:.

(06 Marks)
(07 Marks)
(07 Marks)

(06 Marks)

(07 Marks)
the matrix

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

ll 2 3 2l q,%w@. .&tr
| ": I *$*JF \,q8ef

a. Findtherankof l2 i 5 .I I Utelementaryiowtiansformation@ 
*

t- 
.i:i,ir' -' .r .. '.;;ti"" 

,=ttiiti,ib. Apply Gauss-Jordan hethod to solve the rV$.- of equationsE+-i

4\ + 4x2 -F /X3'@ I, #% Y 
4$p2x1+5x2+$x3:3. gry

c. Find ffi largest Eigen vaffiff%and the corr_effiding Eigen vector of

10
'iiiii:ii:,,:,... i:ii .,,,i:,lir.

a. Solve by Gauss ei{iffiination methff
x - 2V i 3,,2,,,,'E"i'u, *.,'"' "iiiiin'

3x-y+ 4'h,.,,,J4, 
.uri.

2x+ y- 2z:5 
,,,,,r,,.uiliir.b. Solve the system of equaffis by Gauss-Seidal method

20x+ y _ 2z : 17, r::r:i:iri::iri:::,:,:ir::iii:iir:t:iiir,

3x + 20y - z: -18, 
,iii

2x - 3y + 202:ur,25' 
,_

""' 

"'t""'t"' 
.:::.'......i::::"i: 

[- t 3lc. Reduce the mfitrix A - I : 
r 

I to the diagonal form.
t _) 4)
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